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1. (20%)Figure 1 shows two diodes with reverse saturation currents of Is; and Is; placed in series.
Calculate Iz, Vp1, and Vp; in terms of Vg, Isy, and Is».
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(20%)As shown in fig.2, design a full-wave rectifier to deliver an average power of 2 W to a
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Fig. 1

cellphone with a voltage of 3.6 V and a ripple of 0.2 V. If voltage ripple of Vo is smaller than
0.2V and f;, is equal to 60Hz. (Vp6n=0.8V)
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Fig. 2

. (20%)In the circuit of Fig. 3, Is = 5x10°"7 A. Determine V for (a) V4 = o, and (b) Vo =5 V.
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4. (20%)As depicted in Fig. 4, (a) Compute the Rin, Rout and Av of CE for Vs=c0. (b) Compute

the Rin and Rout of CE for V p#0
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5. (20%)As depicted in Fig. 5, (a) Compute the Rin, Rout and Av of CB for V s=. (b) Compute
the Rin and Rout of CB for V p#co.
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